
Liseuse Aubigny
One size (M and more)
Size after blocking : 40 to 48cm large/145cm long.
This liseuse is knitted in a single large sideway piece, the
underside of the sleeves is sewn at the end of the work, after
blocking.

Material     : 
4 balls of Gradient Schoppel Wolle
Needles 3,5mm and 4mm.
Cable needles, scisors , mesureing tape, blocking material,
yarn or tapestry needle. 

Abbreviations and points : 
k: knit
p : purl
m1 : make one
K2tog: knit 2 stitches together. 
* ... *:knit the pattern between *and* as many times as necessary to go to the next indication.
R : row. 
T1 : cable with 2 stitches :put the first stitch on the cable needle in front of the work, purl 
the next one,take the waiting stitch and knit it. 
T2 : cable with 2 stitches : put the first stitch on the cable needle behind the work, knit the 
next one, then take the waiting stitch and purl it.
T3 :cable with 2 stitches  : put the first stitch on the cable needle in front of the work, knit 
the next one,take the waiting stitch and knit it. 
Garter stitch     : knit every stitches of every rows.
Petit point granité : 
R 1(right side ) :k3, *p3, k1* , finish with p3 and k2.
R2 and 4 : k2, knit all of the following stitches as they appear, finish with k3.
R 3: k3 *p1, k1, p2*, finish with p1, k1, p1, k2.
Repeat these 4 rows. 

Gauge     : needles 4,petit point granité 10cm/10cm : 20sts/30rows. 

Pattern Camille Delahaie- les aiguilles de camille.com
Any commercial use of this pattern and its achievements are prohibited,

unless prior written consent of the author. 



Work     :

Cast from the first sleeve edge, on needles 3.5, cast on 92 stitches, make 6 rows of garter sts.
Then switch to the cable pattern, still in 3.5mm needles.
R1, 3 and 5(right side rows) : k2, *k1, p2, k1*, finish with k2.
R2 and even (wrong side rows) :k2, knit all of the following stitches as they appear,finish with
k2.
R7 : k2, *T1, T2*,finish with k2.
R9 : k2, *p1, T3, p1, * finish with k2.
R11: k2, *T2, T1*, finish with k2.
Repeat rows 1 to 12 three times, then knit rows 1 to 6 again. Total height: about 16cm. 
Then make 6 rows of garter sts and move to the body of the liseuse.

The body of the work is worked with 4mm needles, in petit point granité, the increases are 
done at the edge of the work between the petit point granité and the garter stitch. If this 
helps, put a stitch marker after the 3 start row stitches and before the last 2.
Knit in petit point granité to about 25 cm in total height, then start to increase:
R1(right side row):k3, m1, *p3, k1* , finish with p3, m1, k2 (94 sts)
R2 and 4 : k3, knit all of the following stitches as they appear,finish with k4.
R3 : k4 *p1, k1, p2*, finish with p1, k1, p1, k3.
R5 : k4, *p3, k1* , finish with p3, k3.
R6 and 8 : k3, knit all of the following stitches as they appear,finish with k4.
R7 : k4 *p1, k1, p2*, finish with p1, k1, p1, k3.
R9(right side row):k4, m1, *p3, k1* , finish with p3, m1, k3 (96 sts)
R10,12,14 and 16 : k4, knit all of the following stitches as they appear,finish with k5.
R11 : k5 *p1, k1, p2*, finish with p1, k1, p1, k4.
R13 :  k5, *p3, k1* , finish with p3, k4.
R15 : k5 *p1, k1, p2*, finish with p1, k1, p1, k4.
Continue this rhythm of increases every 8 rows until you have a total of 116 stitches, or 
about 60 cm in total height.
Knit the next 4 rows to approx. 80cm total height :
R 1(right side row) :k15, *p3, k1* , finish with p3 and k14.
R 2 and 4 : k14, knit all of the following stitches as they appear,finish with k15.
R 3 : k15 *p1, k1, k2*, finish p1, k1, p1, k14.

Note: if you have completed your increases before 60 cm in total height, add the difference to 
80 cm and knit straight with the 4 rows above until you have reached the sum of your 



calculation (for example, if you finish your increases to 55 cm, then knit the 4 rows above up 
to 85cm in total height.), this will allow you to balance your work.
Skip to decreases :
R 1 (right side row) : k13, K2tog, *p3, k1* , finish with p3, K2tog, k12. (114 sts)
R 2 and 4 : k13, knit all of the following stitches as they appear, finish the row with k14.
R 3 : k14 *p1, k1, p2*, finish with p1, k1, p1, k13.
R5 :k14, *p3, k1* , finish with p3, k13.
R6 and 8 : k13, knit all of the following stitches as they appear, finish the row with k14.
R7 : k14 *p1, k1, p2*, finish with p1, k1, p1, k13.
Continue these decreases on 8 rows until you have a total of 92 stitches.
Continue knitting in petit point granité until the total height is 124cm. Take back the 3.5mm
needles.
Then make 6 rows of garter sts and make the edge of the second sleeve according to the 
following pattern: 
R1, 3 and 5(right side rows) : k2, *k1, p2, k1*, finish with k2.
R2 and even (wrong side rows) :k2, knit all of the following stitches as they appear,finish with
k2.
R7 : k2, *T1, T2*,finish with k2.
R9 : k2, *p1, T3, p1, * finish with k2.
R11: k2, *T2, T1*, finish with k2.
Repeat rows 1 to 12 three times, then knit rows 1 to 6 again.
Finish the work with 6 rows of garter sts and loosely bind off on the right side.
Blocking: wash the liseuse, absorb the excess water with a towel, then apply the following 
dimensions: 40 cm wide for the edges of the sleeves, 48 cm wide for the part of small granite
stitch (note this measurement is without garter stitch edges), total length of the work 145cm.
Let dry.
Sew the seams of the sleeves on a length of 33cm from the beginning of the sleeve towards 
the inside of the liseuse. You can adjust the sewn part of the liseuse to your measurements, by 
increasing or decreasing the sewn part. Bring in the threads and wear !!


